P

P

P

P

P

P

P

P

P

P

P

P

P

P

P

P

-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
P

WRN255FEXOTHERIEEHRBRICONT

082)855-6176

25
791 520 134,400
24
(ha) (ha)
) (ha)
25
25 24
( (ha) ( (ha) B (ha)| B/A
6,110,150 1,2004 6,221,940 12248 11835 | 966
(2 - 731,510 144.0 1368 | 950
712,210 1402 1335 | 952
76,160 16.0 78,680 1656 158 | 957
686,250 13622 701,180 139.4 334 | 957
8400 18 8,240 18 18 | 100

R arr
il e e il e ol i il e, i e e i i il e, i e e il e, i e e e e e, i e e i B e o

S F F Y Y Y Y YT YT Y Y Y Y Y YF Y Y Y Y F Y Y Y Y Y Y Y F Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y T

DS ERIEERM AR

P ey
il e e il ol ol e, i e e il s e s i

TIHBHTRERRS (KBELED

PH 5.5 6.0
81%
EC

58%, 6%, 36%

5%, 95%

0%

32%

68%
1t/10a

38

PH

0.1

e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e s e s

2 L 1 2 |
T T I I I I I I T I I I I XTI XTI I TIITIITIITIITIITIIT Y " p— »
2 — Ml FHRRKRSE 24 »
& — o o o L: b
ol FEEZVY-TIE 1 16 17 21,600 3 4
& L2 o
& Ld 0 0 o, F4
* 1 M 19% 64% 451.5kg 122% |
& L2 o
& lcm 20 b 117% »
& L 2 2 |
& L 2 2 |
& L 2 2 |
& L 2 2 |
& L 2 2 |




25 1 20

X
T | v
° : ' 150 180 150x 40
s A I s 40 200% 100
n ' :
N [
- . 0 60 300x 60 100
|
E— L | | 200 120% 45
TF
® % ( 200
- " 200 100x 50
! EEXRE 55 200 % 90
LLES = HESEA 2004 120x 40
® : (g 200 120x 40
@{—\ H ) |[FryR390 12 150 x 30
¢ [ = 86 9
00> 100% 50
10 11 12 200 250
A X —]
.\\. 3¢ ] — 5d¢ 120x 20
@—% @<
9 10
— 180x 15
¢ E— — D N
120x 40 45
o+eo——]
( 4de 2 ()
ole ) ( @ 2 ) izox 30( )
o | - — R 6me 150% 45
PS - ] ] %%%Wmfl
N YA - . HEE10me 150% 45
ot — 6 4% % 50m0
a - 111 " 110 140x 4 6
o . E—
& .1 1 60ma~ 10 100x 2 3
— | —— |
® 1 . {]
e - 90x 30
>¢ —— 6mQ
———p¢ : I ] 1 8~240 120% 1
ol s 100x 3
@ < T 50mQ 1
o . —
. ( ) M= 1d0 [120x25
Ay —— SiE= 240|248z
[
— | CR 100x 8 10
° : I CR 1d¢
—1 o L praezwus 2de 60 9010 12
o R HEE 1d¢ [120x 10 12
e — B 2d0
o — 20kg 120x 30
o —
° 9 — 150% 40
25k
[ il_o — g
8 9 90x 45
\1;_? | « ) 240
! 9 30
° X 1 1T )




